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I ndian Army Technical sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TRADESMAN

TIME-1HR. |

QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

Indian Railway have recently
celebrated the completion of how many
years of existence

YR ¥erd 9 g1 &1 & foraa ra R R &1
STy HATAT?

a. 100 years

b. 150 years

c. 75years

d. 50 years

The August-Kranti Express train
runs between

3R - Pifa Teaiy 3 = R & i
ot 82

a. Delhi-Mumbai / feeef-gag

b. Delhi-Guwahati / feee-TargTe!

c. Delhi-Sabarmati / feeei-greRHd

d. Delhi-Kolkata / f¢il-starerar

Who was the only Indian player who

played for international football club?

UHI S A1 THAE YR faarst ¢ sit
Pedid aad o Jedr UT?

a. IM Vijayan / 3mgun faemm

b. Baichung Bhutia / ST3g7 yfear

c. Pargat Singh / @xe &g

d. Dhanraj Pillai / &=RTs foret

From which of the following books

has the National Song ‘Vande Matram’
been taken

frufafea 3 3 o= bt feael § 4 g fia
ar—&uﬁw fRrarmar g

Durgesh Nandini / gif=r g1

Kapal Kundala / &urd $sar

Anand Math / 311¢ #3

None of the above / 378 I ®Is *t T

o0 ow

05.

06.

08.

Swadeshi Andolan was started

during the following event

Frafafea & 9 we=h srigie fra aR=

T g 2

a. Gandhi's Champaran Satyagrah / Tigft
& JURU IATUS

b. Movement against Bengal partition /
ST faUTe & feem® siigiad

c. Opposition against Rowlatt Act /Jcie
TR & faen

d. First non-cooperative movement of
1919-22 / 1919-22 &1 Ugdl IR TeHRY
3figrer

Ashtapradhan Council of Ministers
existed during the rule of

o o & fora oo & oo | SrpweT= WAt
uftwg Um

a. Krishnadev Rai / &9r3d I

b. Tipu Sultan / Y Y=

c. Shivaji / RRrarsft

d. Akbar/ 3HsR

. Which of the following is the currency

of Burma? (Myanmar)
Tt (WiHR ) 't gar T 8?2
a. Kyat/&d

b. Lira/dRr

c. Baht/<rd

d. Dollar / SR

Indian Standard Time is associated
with

YR 999 S {59 4 Hafid 82

a. 95°E longitude / 95 ° § MR

b. % E longitude / (161 °) / 2 3 3=
c. 85° E longitude / 85 &3t € 3=iar
d. 90° E longitude /90 ° § SRR
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09. World Environment Day is 13. If the length of a train is 150m and
fay vafaror faw wa glar 82 it clears a pole in 12s, what is the
a. 28th February speed of the train in km/h?
b. 5th August 3R UH ¢ BI AqTs Q4o HieX 8 R A TP
c. 28th April 0d &Y 3R Abs T UR Fl 8, @ 21 &t Ty
d. 5thJune fpeii/a # o gRft
a. 60
10. Which game is associated with b. 50
Thomas cup c. 75
DI-T W UTHT $Y A FIETUT 82 d. 45

a. Chess / =T3S

b. Badminton / SSftfes
C

d

Table Tennis / sef | _
Lawn Tennis / @ ¢ 14. |2 [2,2V2¥2 isequal to

11. 21 mango trees, 42 apple trees and
50 oranges trees has to be planted 2 }2 /2,/2\/5 WER 2

in rows such that each row contains

the same number of tree of one variety af 23332
only. Minimum number of rows in b. 2°
which the above trees may be planted is c. 231/32
NAFAF IS, Y3 AT P US 3R Yo TN & 4. 230/32
U$ U Ufdd ® @Y 911d § 3t S ufea &
Wﬁmg ﬁs‘r Wmﬁa‘ra’rﬁﬁﬁﬁ 15. If v/2™ = 64, find out the value of n
z:ﬁﬁ;q GNITL NS b et o afe V27 = 64 8, dt n BT U FTERM?
a 13 i Z
b. 15 '
c. 6
c. 17 i 1
d. 20 '

12. Four bells toll at interval of 6s, 8s, 12s 16. Sole andTingrout the valtie of

and 18s. If they begin to toll at 12 7/3+ 2 .
together, the least time after that 73+ 2§ BRI
they will again toll together is 1.5858

¥ wfeat 6, 85, 125 3R 185 ¥ sfeRrer A b. 1.5947
ol 2. oFR 3 Wl T W1y 125 Wit & c. 1.6136

o e HH TuY a1 g1, 99 3 GERT d. 1.7316
TS 1Y FOii?

a. Iminand12s

b. 1minand15s
c
d

o

1 minand 20 s
None of the above
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17. If Ram got 30% marks and failed by

15 marks and Mohan got 40% and
scored 35 more than the pass marks.
What is percentage necessary

for passing

TR ITH Bl 30% 3 fiard § ok 78 24 3id
I fawa ghar § SR Jig-T B Yoo 3w ferd
2 3R 98 3\ 3T & Ieftof glan @ <t Sefiof €
¥ fre Reat wferra o TRE

a. 40%

b. 38%

c. 33%

d. 43%

18. A metal sphere of radius 5 cm is

melted to make a cone with base of

the same radius. What is the height

of the cone

T 4 T B ard org & Mo B raarer
I Brean aTd a1 B U X S el @
t 3P Pt HaTs T BRI

a. 10cm

b. 15cm

c. 20cm

d. 5cm

19. 5 kg of tea and 8 kg of sugar together

cost Rs.172. The price of tea has been
risen by 20% and that of sugar by
10%. Hence the same quantity of

tea and sugar now cost Rs.199.20.

What is the original price of tea per kg?
5 fpat arguxht o 8 fopat i it

NI 172 $UY § 3R ARURN &) Paa
0% Bt A< B Wl 7 3R F+ ot Fwa
H 10% B! FeIast @1 STt 8 b 3@ =1 B
P TG 2’R.30 T g Y 31 ufer forant
YTUIt BT At BIHd T ghi?

a. Rs.18 per kg

b. Rs.19 per kg

c. Rs.20 per kg

d. Rs.16 per kg

4ono.com

20.

21.

22.

4ono.com  4ono.com  4ono.com  4ono.com
‘A’ started a business with a capital of
Rs 10000 and 4 month later, ‘B’ joined
him with a capital of Rs 5000. What is
the share of A out of total profit of

Rs 2000 at the end of the year

‘A’ 20000 TUY & HIY B3 TR IRE Hdl §

3R ¥ AN 91 Yooo FUY &A1Y ‘B’ i
IS 1Y ATR F §S 1T 2 ot 91 & i &
R000 WYY & o AP & 1Y A’ FT g
e g

Rs.750

Rs.1000

Rs.900

Rs.1500

oo o

A man and a boy together can do a
certain amount of digging in 40 days.
Their speeds in digging are in the
ration of 8 : 5. How many days will
the boy taken to complete the work,
if engaged alone

T 3H! R TP dSHT $O Gals Bl 40
o ¥ @1 7 €, 39! WieA Y sHAT BT
SJUTd U 8:5 B! TASHI, 3APA IH B
P B | fa-r gug amm?

a. 80 days

b. 104 days

c. 52 days

d. 68 days

The incomes of A and B are in the
ratio 3:2 and their expenses are in
the ratio 5:3. If both saves Rs.200,
what is the income of A?

A 3R B B 3T BT SJUTd 3:2 § 3T

I AU T BT 3JUTd 5:3 71 afe
R00 UL 4T § df A B TG FT ghft?
a. Rs.2000

b. Rs.800
c. Rs.1600
d. Rs.1200
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The cost of 6 knives and 6 spears is 26.The area under a speed-time graph is
300 Rs. but the cost of 3 spears and represented in unit of

9 knives is 270 Rs. What will be the -9 % § ST6d &1 for g1 A
cost of one dozen knives aid 37

6 TTP 3R 6 BIcl BT YT 300 TUA § Afb 3 a M

Picl N7 9 ATH SN PTG 270 YA B | 1 TP b. m?

TSt AT 3T T Hed T N2 c. m3

a. 80Rs d m?

b. 210Rs

c. 220Rs 27. The force of buoyancy depends upon
d. None of these IATdhdl 9 foa R R svare

The sum of A plus B equals 116. A'is

3 less than C, but 4 more than B.
What number does C Equal

a 3fR b PTANT & TR 3. 3R a, cH 3
BleIg Afp-Tb T ¥ TST2 dl ¢ foFa & _eR
gRm?

a. 72

b. 48

c. 53

d. 63

In a lot of 154 coats, there are 3 less
white coats than red coats, but 5
more white coats than green coats.
If all coats are red, white or green,
how many red coats are there

154 P A A AhE PIc AT BPIAI A Y PHE
3R e Bic T BT T & [1al & ut a4,
B 3R glbe HIcl § A &1 DIe faq ghire

a. 62

58
55
72

oo o

Distance

a. the shape of body / 9% & MTHR W

b. the mass of body / 3% & STHM WR

c. the mass of liquid displaced / d’d &1
fowifod gen v W

d. the depth to which body is immersed /
TP TN A S FL RV W

28. The distance-time graph of an object

moving in a fixed direction is show in

figure. The object

e faw 1T uTw A B avg ot ue FRuia
for=m # wg ¥t @ o a¥g frw nifar & Tz

P
-

Time
a. isatrest/TBIgE
b. moves with a constant velocity / T&
T Tl G Tt
c. moves with a variable velocity / 3fe7

3T I T Terft

d. moves with a constant acceleration /

fARR sg areft 7Tt 4 <rereht
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29. A coin flipped across a table
stops because

4ono.com
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32. The force of gravitation between two
bodies of mass 1 kg each kept at a

TSP ¢qd IR gHdT g3 Riap1 v distance of 1 mis
ST § Fif? A YR R g Bt g  Hex 8 auT vd®
a. no force acts on it / I W P13 9 gl P1 9o  fPam 8, 379 fiw &1
RG] TFQTPYUT 99 fha-T ghm?
b. Itis very heavy / 98 g0 Wi 8 a. 6.67N
c. the table exerts a frictional force on it / b. 6.67 x 10-ON
e UR 29 gRT 9901 Il @91 38T @ c. 667 x10-7N
d. the earth attracts it / geat 34 U+l TP d. 6.67 x10-11N
CIERE N

33. If a coin and a feather are dropped

30. Which of the following has the
largest inertia
7 & & ga siftre SIg fra®r 32
a. Apin/fuA a.
b. An inkpot / @8t &1 gdrd
c. physical textbook / faare
d. body/3RR

31. A gap is left between consecutive rails d.

when a railway track is prepared.
This is to

¥ @1 geival & dta fraa wi= w0 stet
ST 82

a. Save iron / dig ®! §9d & g

b. reduce the rise in temperature of the

rails in summer / TIfHaY & gefal &1
qOHH &H & & [l

b.

C.

together in a vacuum:
3R TS RyadT 3R Toh Ua U 1Y D
# R a1 grm?

The coin will reach the ground first /
491 Ugd ST ddb UgaTm

The feather will reach the ground first
/ UG Ugdl STHIA deb gga

Both the bodies will reach the ground
together / i U& |1 TTHH O Ugd ST
The feather will not fall down / o =
o1 frem

34. A vessel containing water is in
equilibrium on a beam balance. When
a man puts his fingers into the water
without touching the bottom or the
sides of vessel, the scale pan on
which the vessel stands

C. red_uce the katar-katar§ound when a T TR R R T B ATt § AR W
raln moves | ST THRIRPRA e 1 g e e ey
d. avoid distortion in rails due to thermal U I ot Sredt garert @ 4 fore ugat
expansion / <=t & aTdig TR & SR8 TR I B @1 AT & I W HT YHTE TS
J1el fa=g0 1 gem & forw a.  will be unpredictable / SIaTRId g1
ST
b. will sink / &8 8! SR
c. will rise / §¢ ST
d. will neither rise nor sink / 91 g1 %H R,

7 8l sigm
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37.

38.
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Two bodies of unequal masses are
dropped from a cliff. At any instant,
they have equal

g fafts Ri & T g A IR oR W
et v wHy ©R I7@t o1 4t faRiwan
TR g

momenta / AT (HHcH)
acceleration / @Rl

potential energies / Ty SHoif
Kinetic energies / Tifast S

o0 oW

When the speed of a particle is doubled,
the ratio of the kinetic energy to its
momentum

WIq U HUT B A SR B, o I fae
oIl BT AU IHP JAT BT fpa-n
remains the same / T 9 I&dT &
gets doubled / ER[AT 8 ST §

become half / 3f1em 8 ST §

None of the above / 378 q &5 *t gt

3

20T

Good absorbers of heat are

T P 33 GNP T i 872

a. poor emitters / T IToidH

b. non-emitters / TR-Icoid

c. good emitters / 35T IoIh

d. highly polished / srcfeie Gifer=r fovan
gar

It has been observed that there is

almost no atmosphere at the surface

of planet mars. This is because

T g UR ATATaR0l 51 g BT o1 BRI §

a. of the typical setup of the solar
system/ IR HSd &1 TTRIT B HRUT

b. of the small value of the escape
velocity on mars / G ofl & Bic JH
B & HRU

c. of very fast rate of spinning of the
mars / Hd & dgd ol gH1 & HRUT

d. of the fact that there is no life on the
mars / T & $ig 1t Shiad 989 & HRUI

4ono.com
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39. All object experience the same

acceleration due to gravity on earth.
This is because of the gravitational
force which is proportional to

TFAATH YUl g6 & PRI Tt TR Sufeyd weft
T Th THTH @RI 3JHT Bl & i
TFATHYUT SJUTIP 872

a. volume / 3 &

b. mass /A9 &

c. density / 9@ &

d. Weight/dsH &

40. If the humidity in the air increases,

41.

42.

43.

the atmospheric pressure will
3R qrgHsd H TH & AT 9¢ 9, af
AGHSH GaTd IR T 3R TSN
a. Decrease / %H g SR
b. Increase / §¢ ST
c. firstincrease then decrease/ gal S
i gem
d. remain same / T&% 99 XM

Which of the following is a chemical
Change

TR A I T IS ufiada §

a. Evaporation / 41T

b. Dissolution / faee

c. Sublimation / 3= &= &1 fopa

d. Precipitation / 3/@&gur

Heating of a substance result in

Pt 9% B TRE B TR FTRM?

a. aphysical change / & iifass aRkad=
b. achemical change / IS daad
a physical or a chemical change / T&
iferes 1 S giRad

d. None of the above /sqfrﬁaﬂé Y &l

Radian is used to measure

IfET T wTu= & e v it 32
a. Temperature / digH

b. Intensity of Flame /Sarall &1 ditgdn
c. Angle / ®Iur

d. Solid Angle / 3 ®IUT

134
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44. Which of the following is a physical 48. Anthracene is purified by
Change FIaa o) YfeHIor 1 ufthar w1 Feand 82
0 A P9 91 Hifad tRada & a. filtration / BT
a. Formation of curd / Ggl &1 g1 b. distillation / 3mHa-
b. Burning of candle / THa<H BT e c. sublimation / 3= 1 &t feba
c. Rusting of iron rod / @8 &1 s & S d. crystallization / foreecfieom
[GEIGII
d. Heating of copper wire by 49, Cathode rays are made up of
electricity / Afd @1 IR &I faocl GRTTRA Fire fpol frad o et 2
Elall a. positively charged particles / ¢=Ta=T
b. negatively charged particles / S0md=1
45. The first metal to be used by man was c. neutral particles / de® &1
STeHY §RT UgdT S T UTg S¥awTe fopan d. None of the above / 370 I 13 o T8t
T™T 41?
a.  Aluminium / Tegfafaag 50. The size of nucleus is
b. Copper /disT RS BT ATHR fra-T giar &2
c. Silver/=idt a 10-12m
d. Iron /FﬁET b. 10—8m
_ : c. 107%m
46. Camphor can easily be purified by d. 10~°m

the process of

PPR B P W ulthar A At A 31z forar
T 8

a. Sublimation / 3= &1 &1 fepan

b. Distillation / 3mdaq

c. Crystallization / for&ecithor

d. Sedimentation / 3fadre

47. The process by which solid directly
converted into liquid phase is
B Y T TR a1 H Iga- i ufshar
1 R HEd &

a. Distillation / 3{rEa=

b. Condensation / g=t&or

c. Melting / a1

d. Sublimation / 3= 1 1 febar
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Answer key

1.(b) v 2. (b) v 3. (b) v 4. (c) ¥ 5. (b) v 6. (C) v 7. (a) v 8. (b) v 9. (d) v 10. (b) ¥ 11. (c) ¥ 12. (a)
v 13.(d) v 14. (c) v 15. (d) v 16. (a) v 17. (c) v 18. (c) ¥ 19. (¢) v 20. (d) v 21. (b) v 22. (d) v 23.
(d) v 24. (d) v 25. (C) v 26. (a) v 27. (c) v 28. (b) v 29. (c) v 30. (d) v 31. (d) v 32. (d) v 33. (c) v
34. (d) v 35. (b) v 36. (b) v 37. (C) v 38. (b) v 39. (b) v 40. (b) v 41. (d) v 42. (c) v 43. (c) v 44. (d)

v 45. (b) v 46. (a) v 47. () v 48. (c) v 49. (b) ¥ 50. (c) v

Jai Hind
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